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DD–2067 

M. Com. (Final) EXAMINATION, 2020 

(Compulsory) 

Paper Second 

ADVANCED COST ACCOUNTING 

Time : Three Hours 

Maximum Marks : 100 

uksV %uksV %uksV %uksV %    lHkh ik¡pik¡pik¡pik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d ,d ,d ,d iz’u    

djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZbdkbZbdkbZbdkbZ&&&&1111    

(UNIT—1) 

1- ykxr ys[kkadu dk o.kZu dhft,A blds egŸo dh la{ksi esa 

O;k[;k dhft,A ykxr ys[kkadu dh fofHkUu i)fr;ksa dk Hkh 

o.kZu dhft,A 

Define cost accounting. Discuss the significance of cost 

accounting in brief. Also discuss the different methods of 

cost accounting. 
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vvvvFkokFkokFkokFkok    
(Or) 

fuEufyf[kr lwpukvksa ls tuojh ekg dk LVkslZ ystj [kkrk 

QhQks fof/k ls cukb, % 

 izkfIr;k¡izkfIr;k¡izkfIr;k¡izkfIr;k¡     fuxZeufuxZeufuxZeufuxZeu     

frfFkfrfFkfrfFkfrfFk    bdkb;k¡bdkb;k¡bdkb;k¡bdkb;k¡    njnjnjnj    frfFkfrfFkfrfFkfrfFk    bdkb;k¡bdkb;k¡bdkb;k¡bdkb;k¡    

2019  `̀̀̀ 2019  

tuojh 1 1000 40 tuojh 2 200 

tuojh 10 400 39 tuojh 4 100 

tuojh 16 300 41 tuojh 8 100 

tuojh 24 600 40 tuojh 14 400 

   tuojh 18 500 

   tuojh 31 400 

LVkslZ lR;kiu izfrosnu ls irk pyk fd tuojh 12 dks ,d 

xzkgd us 40 bdkb;k¡ nj ` 38 okil dhaA tuojh 13 dks 

10 bdkb;ksa dh {kfr gqbZ rFkk nwljh 8 bdkb;ksa dh deh 

27 tuojh dks gqbZA 

Prepare store ledger account according to FIFO method 

for the month of January from the following information : 
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 Receipts  Issues  

Date Units Rate Date Units 

2019  `̀̀̀ 2019  

January 1 1000 40 January 2 200 

January 

10 400 39 January 4 100 

January 

16 300 41 January 8 100 

January 

24 600 40 

January 

14 400 

 

 

 January 

18 500 

 

 

 January 

31 400 

The store verification report reveals that on 12th January 

refund of 40 units @ ` 38 from a customer. On 13th 

January 10 units are destroy and another shortage of 

8 units on 27th January. 

bdkbZbdkbZbdkbZbdkbZ&&&&2222    

(UNIT—2) 

2- ,d Jfed dh etnwjh 48 ?kaVs ds fu/kkZfjr lIrkg ds fy, ` 45 

izfr ?k.Vk gSA ,d bdkbZ dks mRikfnr djus dk vuqekfur le; 

20 feuV gSA izsj.kkRed ;kstuk ds vUrxZr Lohd`r le; 10% 

c<+k;k x;k gSA mlus ,d lIrkg esa 150 bdkb;ksa dk mRiknu 

fd;kA gkYls ,oa jksou izhfe;e ;kstukvksa ds vUrxZr dqy 

ikfjJfed Kkr dhft,A 
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A worker’s wage for a guaranteed 48 hours week is ` 45 

per hour. The estimated time to produce one unit is 

20 minutes. Under the incentive scheme time allowed is 

increase by 10%, He produced 150 units, during a week. 

Calculate the total wages under Halsey and Rowan bonus 

plan. 

vFkokvFkokvFkokvFkok    
(Or) 

mLeku VªkaliksVZ dEiuh nks uxjksa ds chp tks 50 fdyksehVj dh 
nwjh ij gS] 4 clsa pykrh gSA izfr cl dh {kerk 50 iSlsatj gS] 
ijUrq vkSlr cl 25% [kkyh pyrh gSA lHkh clsa ekg ds lHkh 
fnu pyrh gSa rFkk izR;sd cl izfrfnu ,d [ksi iwjk djrh gSA 
vizSy] 2019 ekg ds fy, dEiuh dh iqLrdksa ls fuEufyf[kr 
O;; fooj.k izkIr fd, x, gSa % 

    ` 

Mªkboj o d.MDVj dh etnwjh 4,800 

dk;kZy; LVkQ dks osru 2,000 

Mhty] vkW;y vkfn 6,000 

ejEer 3,600 

chek o lM+d dj 4,000 

kl 4,400 

vU; LFkk;h O;; 4,000 

fu/kkZfjr dhft, % 

¼v½ izfr lokjh fdeh- ykxrA 
¼c½ ,d ‘kgj ls nwljs ‘kgj dk cl fdjk;k ftlesa ykHk 

ykxr dk 50% gksA 
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Usman Transport Co. operates 4 buses between two cities 

which are 50 km apart. Capacity of each bus is 50 

passengers but an average the bus runs 25% empty. All 

the buses run on all the days of the month. Each bus 

making a round trip each day. Following particulars of 

expenditure are obtained from the books of company for 

the month of April, 2019 : 

 ` 

Wages of drivers and conductors 4,800 

Salaries to Office Staff 2,000 

Diesel, Oil etc. 6,000 

Repairs  3,600 

Insurance and Road Tax 4,000 

Depreciation 4,400 

Other Fixed Charges 4,000 

Find out : 

(a) The cost per passenger kilometre. 

(b) Bus fare to be charged from one city to another 

adding a profit of 50% on cost. 

bdkbZbdkbZbdkbZbdkbZ&&&&3333    

(UNIT—3) 

3- ,d:i ykxr iz.kkyh dks ifjHkkf”kr dhft,A ,d:i ykxr 

iz.kkyh ds ykHkksa o lhekvksa dk foLrkjiwoZd o.kZu dhft,A 

Define uniform costing. Describe fully the advantages and 

limitations of uniform costing. 
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vFkokvFkokvFkokvFkok    
(Or) 

,d mRikn rhu izfØ;kvksa ^v*] ^c*] ^l* ls xqtjrk gSA izR;sd 

izfØ;k esa lkekU; {k; fuEu izdkj gS % 

izfØ;k ^v* esa 3%] izfØ;k ^c* esa 5% rFkk izfØ;k ^l* esa 8% 

^v* izfØ;k dk {k; 25 iSls izfr bdkbZ] ^c* izfØ;k dk {k; 50 

iSls izfr bdkbZ rFkk ^l* izfØ;k dk ` 1 izfr bdkbZ cspk x;kA 

vDVwcj] 2019 ds vkjEHk esa 10000 bdkb;k¡ ` 1 izfr bdkbZ 

ykxr nj ij ^v* izfØ;k dks fuxZfer dh xb±A vU; O;; 

fuEufyf[kr Fks % 

 izfØ;k izfØ;k izfØ;k izfØ;k ^̂̂̂vvvv****    izfØ;k izfØ;k izfØ;k izfØ;k ^̂̂̂cccc****    izfØ;k izfØ;k izfØ;k izfØ;k ^̂̂̂llll****    

 (`) (`) (`) 

fofo/k lkexzh 1,000 1,500 500 

Je 5,000 8,000 6,500 

izR;{k O;; 1,050 1,188 2,009 

okLrfod mRiknu Fkk % 

izfØ;k ^v*&9500 bdkb;k¡] izfØ;k ^c*&9100 bdkb;k¡] izfØ;k 

^l*&8100 bdkb;k¡  

;g ekurs gq, fd vkjfEHkd o vfUre LVkWd dqN ugha Fkk] 

izfØ;k [kkrs cukb,A 

A product passes through three processes A, B and C. The 

normal wastage of each process is as follows : 

Process A—3 percent, Process B—5 percent,  

Process C—8 percent 
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Wastage of Process A was sold at 25 paise per unit, that 

of Process B at 50 paise per unit and that of Process C at 

` 1 per unit. 10000 units were issued to Process A in the 

beginning of October, 2019, at cost of ` 1 per unit. The 

following other expenses where as follows : 

 Process A Process B Process C 

 (`) (`) (`) 

Sundry Materials 1,000 1,500 500 

Labour 5,000 8,000 6,500 

Direct Expenses 1,050 1,188 2,009 

Actual Output was : 

Process A—9500 units, Process B—9100 units, Process 

C—8100 units 

Prepare the Process Accounts, assuming that there was no 

Opening Stock or Closing Stocks. 

bdkbZbdkbZbdkbZbdkbZ&&&&4444    
(UNIT—4) 

4- ctVjh fu;U=.k D;k gS \ blds mís’;] ykHkksa rFkk lhekvksa dks 
crkb;sA 

What is Budgetary Control ? Point out its objectives, 

advantages and limitations. 

vFkokvFkokvFkokvFkok    
(Or) 

fdlh oLrq ds mRiknu esa izfr bdkbZ izeki lkexzh rFkk izeki 
ewY; fuEukuqlkj gS % 

lkexzh&X 5 fdxzk- nj ` 3 izfr fdxzk- 

lkexzh&Y 10 fdxzk- nj ` 2 izfr fdxzk- 
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500 bdkb;ksa ds mRiknu esa iz;qDr lkexzh dh okLrfod ek=k 

,oa ykxr fuEukuqlkj gS % 

lkexzh&X 2800 fdxzk- ykxr ` 8]680 

lkexzh&Y 4800 fdxzk- ykxr ` 10]560  

fuEufyf[kr fopj.kksa dh x.kuk dhft, % 

(i) lkexzh ykxr fopj.k 

(ii) lkexzh ewY; fopj.k 

(iii) lkexzh iz;ksx fopj.k 

(iv) lkexzh la’kksf/kr iz;ksx fopj.k 

(v) lkexzh feJ.k fopj.k 

The standard quantity of material per unit and standard 

price for producing an item are as follows : 

Material-X 5 kg @ ` 3 per kg 

Material-Y 10 kg @ ` 2 per kg 

The actual quantity of material consumed and its cost for 

producing 500 units are as under : 

Material-X 2800 kg Cost ` 8,680 

Material-Y 4800 kg Cost ` 10,560 

Calculate the following variances : 

(i) Material Cost Variance 

(ii) Material Price Variance 

(iii) Material Usage Variance 

(iv) Material Revised Usage Variance 

(v) Material Mix Variance 
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bdkbZbdkbZbdkbZbdkbZ&&&&5555    

(UNIT—5) 

5- foHksnkRed ykxr D;k gS \ lhekar ,oa foHksnkRed ykxr esa 

vUrj dhft,A fu.kZ;u dh izfØ;k dks le>kb;sA 

What is differential costing ? Differentiate marginal and 

differential costing. Explain the process of decision-

making. 

vFkokvFkokvFkokvFkok    

(Or) 

,d dEiuh ds ykxr&ek=k&ykHk fo’ys”k.k dks lehdj.k 

y = 2,40,000 + 0.7 x }kjk of.kZr fd;k x;k gS ftlesa 

x foØ; dks vkSj y dqy ykxr dks n’kkZrk gSA  

fuEufyf[kr dh x.kuk dhft, % 

(i) ykHk&ek=k vuqikr 

(ii) mRiknu lhek&Lrj fcUnq 

(iii) dEiuh ykHk dks ` 60]000 ls c<+kuk pkgrh gS] fcØh D;k 

gksxh \ 

(iv) ykHk esa o`f) ;fn fcØh ` 30]000 ls c<+rh gSA 

(v) ` 90]000 dh vk; dekus gsrq bfPNr fcØh dh ek=kA 

The cost-volume-profit relationship of a company is 

described by the equation y = 2,40,000 + 0.7 x in which x 

represents sales revenue and y is the total cost.  

Find out the following : 

(i) P/V Ratio 
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(ii) Production Break-even point. 

(iii) Company wants to increase profit by ` 60,000, what 

will be the sales ? 

(iv) Increase in profit if sales increase by ` 30,000. 

(v) Sales volume required to produce an income of 

` 90,000. 
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